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Họ và tên HS: _____________________________ SBD: _______________ 

I. Choose the word that has the underlined part pronounced differently from the others: 

1. A. pool  B. good  C. look  D. book 

2. A. west  B. between  C. growth  D. which 

II. Choose the word whose main stress is placed differently from others: 

3. A. determine  B. equality  C. discussion  D. celebrate 

4. A. social  B. assist   C. formal    D. friendly  

III. Choose the word which has the CLOSEST meaning with the underlined word: 

5. Don’t forget to drop me a line when you’re away 

 A. telephone me B. call me  C. write to me  D. send me a telegram 

6. Her parents are growing increasingly concerned by her erratic behaviour. 

 A. answerable B. angelic  C. anxious   D. ancestral 

IV. Choose the word which is OPPOSITE meaning to the underlined word: 

7.  She decided to remain celibate and devote her life to helping the homeless and orphans. 

 A. divorced B. separated  C. single  D. married 

8.  Driver are advised to get enough petrol because filling stations are few and far between on the highway.  

  A. unlikely to happen  B. difficult to access    C. easy to find     D. impossible to reach  

V. Mark the letter A, B, C or D to indicate the correct response to each of the following exchanges:  

9. John is talking to Daisy about her new blouse  

      - John: "You really have a beautiful blouse, Daisy, I’ve never seen such a perfect thing on you!" 

      - Daisy: “____________________.” 

 A. I'm sorry to hear that.  B. Thanks, That’s a nice compliment. 

 C. Don't mention it.   D. Thanks for your gift! 

10. Daisy wants to invite her classmate, Joe, to her birthday party. 

       - Daisy: “Listen, I am having a birthday party next Friday. Do you want to come?” 

       - Joe: “______ What time does it start?”  

 A. Sure, I’d love to. B. Sorry. I’m busy then. C. I can’t agree with you.   D. I like a party. 

VI. Mark the letter A, B, C or D to indicate the underlined part that needs CORRECTION in each of the 

following questions. 

11.  Today's students also appear more formerly dressed and conservative- looking these days. 

 A. Today’s B. also C. formerly D. these days 

12. He didn’t meet her even one time since they said good bye together. 

 A. didn’t meet  B. even   C. one time  D. said 

13. The puppy stood up slowly, wagged their tail, blinked its eyes, and barked. 

 A. slowly   B. their     C. blinked     D. and 

VII. Mark the letter A, B, C or D to indicate the correct answer to each of the following questions. 

14.  Probably the most common way of attracting someone’s attention is by ___. 

 A. dancing B. singing  C. nodding  D. waving 

15. He is a _______ boy. He is often kind and helpful to every classmate. 

 A. frank B. lovely  C. obedient  D. caring 

16. Some researchers have just _______ a survey of young people's points of view on contractual marriage. 

 A. conducted B. directed   C. managed   D. sent 

17. _______ sure that you follow the instructions carefully. 

 A. Believe B. Try  C. Do  D. Make 
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18. The trouble with James is that he never  on time for a meeting. 

 A. turns up B. takes off  C. takes up   D. turns down 

19. You’re putting the cart before the  of you work on Project B before Project A because 

the former is a sequel to the latter. 

 A. horse B. dog  C. buffalo   D. ox 

20. They agree that it is unwise to confide ___ their wives.  

 A. at B. in  C. for   D. with 

21. If a boss wants to have a well-qualified staff, he should have to pay his employees _______. 

 A. appropriately  B. appropriate   C. appropriation     D. appropriating 

22.  I ____ to the market with my mother yesterday. 

 A. go  B. was going C. have gone    D. went 

23. Gold                         in California in the 19th century. 

 A. was discovered B. has been discovered C. was discover           D. they discover 

24. ____________ high school, Nam attended a university in the city centre. 

 A. Having finished B. To have finished C. Having been finished   D. To finish 

25.  ________ the destination, he will have been walking for about three hours. 

 A. When John will get   B. By the time John gets   

 C. After John has got  D. until John is getting 

26.  Let's go for a long walk, ________ ? 

 A. will we  B. shall we  C. don't you  D. do you 

27. Mike _________ his favorite program on TV when the lights went out.  

 A. was watching  B. is watching   C. watched   D. watches 

VIII. Reading comprehension: Choose your best answer: 

Modern civilization is heavily dependent on energy. Without reliable power sources, we couldn’t operate 

machines, use transportation, communicate via the Internet, or do many other things. Although everyone 

recognizes the importance of energy, deciding what kind of energy the world should use in the future is not a 

simple task. The two leading candidates for this role are green energy and nuclear energy. 

Currently, most of the energy we use is derived from fossil fuels. Although this energy source has got us this 

far, there are several problems with it. For starters, it is a finite resource which is quickly running out. Some 

analysts have even estimated that the Earth could run out of coal and oil within the next 50 years. Burning fossil 

fuels also creates large amount of pollution, which is harmful to the environment. Although fossil fuels still 

provide the majority of our power, governments are seeking better energy sources to use going forward. 

Green energy is one option that is becoming increasingly attractive. It includes technologies such as solar, 

wind, and hydro power. These are seen as clean sources of energy because they cause very little pollution. In 

addition, they are completely renewable, so there is no danger that it will run out. The major disadvantage with 

green energy sources is that they are not cheap. 

The other alternative is nuclear power. Like green energy, it is also a renewable source of power that will not 

run out, and it also doesn’t produce air pollution. In addition, nuclear power is more reliable than green energy, 

as it doesn’t depend on sunshine, rain, or wind to operate. The major issues with nuclear power are safety concerns 

and nuclear waste. Nuclear power plants create a considerable amount of nuclear waste which is extremely 

hazardous to people’s health. If they happen to have a meltdown, this could destroy the surrounding area for years 

to come. 

The recent nuclear disaster in Fukushima, Japan brought this reality into the spotlight once again. In 

response, Germany announced it would close down eight of its nuclear plants immediately, and close the rest by 

2022. Meanwhile, other nations refuse to give up on nuclear power, stating that these disasters are rare. The debate 

of whether to use green or nuclear power will likely continue for some time. In the end, it is quite possible that 

both energy sources will be used to fuel our planet. 

                                                                           (Adapted from Intensive Reading Comprehension Skills) 

28. What is the main focus of the passage? 

 A. Why energy is important B. The energy sources used in the past 

 C. Comparing future energy solutions D. Discussing how disasters affect power sources 
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29. The word “finite” in paragraph 2 is closest in meaning to _______. 

 A. abundant B. limited C. insufficient D. replaceable 

30. According to the passage, what is the main problem with green energy? 

 A. It creates lots of pollution. B. It costs more money than other solutions. 

 C. No one is interested in using it. D. It won’t work at all in many nations. 

31. The word “it” in paragraph 4 refers to ______. 

 A. source of power B. alternative power C. green energy D. nuclear power 

32. Which of the following is TRUE according to the passage? 

 A. Fossil fuels will continue to be the best choice for the future. 

 B. Nuclear energy will outweigh green energy in the near future. 

 C. It is easy to decide on the energy solution for the future. 

 D. A mix of different energy sources will be used in the future. 

33. The word “spotlight” in paragraph 5 is closest in meaning to _______. 

 A. concern B. attention C. danger D. area of light 

34. It can be inferred from the passage that _______. 

 A. nuclear power is more expensive than other sources 

 B. nuclear energy is renewable because it can be replenished 

 C. nations have different viewpoints about the utility of nuclear power 

 D. the nuclear disaster in Fukushima made other countries give up on nuclear power 

IX. Mark the letter A, B, C, or D to indicate the suitable answer for each question. 

35. “Mum, please don’t tell Dad my mistake!” the boy said. 

 A. The boy insisted his mother not tell his father his mistake. 

 B. The boy told his mother not to mention his mistake any more. 

 C. The boy asked his mother not to tell his father his mistake. 

 D. The boy wanted his mother to keep his mistake in her heart. 

36. The last time I saw her was three years ago. 

 A. I have not seen her for three years. 

 B. About three years ago, I used to meet her. 

 C. I have often seen her for the last three years. 

 D. I saw her three years ago and will never meet her 

37. I started to read this book at 2 o’clock. 

 A. I has been read this book at 2 o’clock. B. I have been reading this book since 2 o’clock 

 C. I have been reading this book for 2 o’clock. D. I have been reading this book in 2 o’clock. 

38. I really regret that you haven't told me about her family. 

 A. If only you would tell me about her family. 

 B. If only I didn't regret that you hadn't told me about her family. 

 C. If only you had told me about her family. 

 D. If only you hadn't told me about her family. 

39. This is the first time I have gone to the zoo.  

 A. I have ever gone to the zoo before.  B. I had gone to the zoo several times 

 C. I have never gone to the zoo before.            D. I had ever gone to the zoo like this before 

40. She last played tennis two years ago.  

 A. She has played tennis for two years.  B. She hasn’t played tennis since two years.  

 C. She hasn’t played tennis for two years ago.  D. She hasn’t played tennis for two years.  

 

 


